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QUESTION 1

The subset of an address space\\'s pages in central storage at a given time is known as the
A. Virtual set

B. Address set

C. Working set

D. Central set

Correct Answer: C

QUESTION 2

Which of the following software products provides basic security for a mainframe system?
A. RACF

B. LDAP

C. PKI

D. SAF

Correct Answer: A

QUESTION 3

Which of the following is used to introduce new elements to the system using SMP/E?
A. Base and Dependent function SYSMODs

B. Hardware Management Console (HMC)

C. Initial Program Load (IPL)

D. APAR and PTF

Correct Answer: AD

QUESTION 4
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Which of the following RACF structures retains information about users, resources, and access authorities?
A. Templates

B. Groups

C. Profiles

D. Access

Correct Answer: C

QUESTION 5

Including all name segments and periods, the length of a dataset name cannot exceed how many characters?
A. 48

B. 44

C. 40

D. 36

Correct Answer: B
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